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PHYSICAL EDUCATION

PAPER - 111

Vote :This paper contains Seventy Five (75) multiple-choice/Assertion and

Reasoning/matching questions/carrying TWO (2) marks each. Attempt All

the questions.
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1.  Match the List I with List IT and

select the correct answer from the

codes given below :

List 1

3] Isometric exercise

(iiy Relaxation exercise

{(iiiy Isotonic exercises

(iv) Isokinetic exercises

Codes :
(2}
(A) (1)
(B) (4)
(C) (2)

(D) (5)
Phy. Edu.-III

(if)
(3)
(3)
(3)
(2}

List 11
(1) Biking

(2) Pressing one’s
hand(s} against
wall

(3) Deep breathing

4 Weight
training with
dumbells and

barbells

(5) Peddling on

ergo-bicycle

(@) ()

(2)
(5)
(4)
(3)

(5)
(1)
(5)
{4)

1.

@
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(z21)
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Rel—I 2 II Aadl x4 {14 udet
sisuidl WAL walel WiE s

el 1 gl 11
Raz ARl (1) wase yenadl

MHEIAS sudl (2) Rawa-l ad

gl soust
sfaz=u sudl (3) Glsi =
wSALSIO 2 S (4) s¥ied  dA
sAdl olLa6ieyd Wl
ax- dlelin

(5) 200 sudHlsa
By Usdla

Gy @) @) (v
A L @ @ 6
®B @4 & & @
© @2 3 @4 6

O B @ B @)
(P.T.0.]



2.  Match the List I with List II and
select the correct answer from the

codes given below :

List I

() Maximum rate

of oxygen

consumption

during exercise
() The rest period

immediate after

exercises

(i) Oxygen deficit

increased during

exercise

(iv) Factor deter-

mining the

OXYgen carrying

capacity of the

blood

Codes :

@)

A) @

(B) (4)

(€ 3)

D) 2)
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(i)
(3)
(3)
(2)
(3)

1)

(2)

3

4)

(5}

(id)
(2)
(2)
4)
(1)

List IT

Haemoglobin

Ozxygen debt

Recovery period

Aegrobic power

Myoglobin

(iv)
(1)
(5)
(1)
(4}

2.

()

(i)

(¢21)

(iv)
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518 :
(£)
(A) 4
(B) (4)
(C) (3)

D) (2)

(it}
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(3)
(2)

(3)

(5) Wi,

() ()
(2) )
(2) (5)
4) (1)

(1) 4)



3.  Match the List I with List II and

select the correct answer from the

codes given below :

List I

(i} Dynamic (1)

(ii) Motion (2)

Force (3)

(i1t}

(fv) Gravity (4)

(3)

Codes :

0 @D
(A) (3) (9)
(B) (2) &)
(2)
(3)

(Cy 3

D) (4)
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List I1

A push, pull or

tendency to distort

that
attracts everything
in the

A force

earth’s
atmosphere to the

centre of the earth

Study of systems in
motion in which
acceleration is

present

Change of place or
position of an object
or body

Change of place

during a time

interval

() (iv)
(1)
(3)
(4)
(6)

(2)
{1).
(5}

(1)

(11

(z21)

(iv)
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4. Match the List I with List II and
select the correct answer from the

codes given below :
List 1 List 11

(&) Professional (1) OQutlines of the content

ethics to be taught

(&) Time Table (2) A well charted
document which depicts
what is to be done when
and whom within a

given time frame

(@) Syllabus (3) A formalization of
experience into a set of

rules

(i) Curriculum (4) A course of study

offered by a school

(3) A dynamic document
which includes all the
learning cxperience

provided for the student
Codes :
@) @) @) G
A) @ @ (1 )
(B) (8) 3) (2) (4
€@ 6 @ o

D) M G @ 6
Phy. Edu.-II1
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5. Match the List I with List IT and

select the correct answer from the

codes given below :

List I

(1) Indoor

recreation

(1)

(ii} Active

(2)

recreation

(iti) Passive

(3)

recreation

(iv) Qutdoor (4)

recreation

(5)

Codes :
(1) ()
(A) (2) (B)
(B) 3 @
(C)y (1Y (3)

(D) 4)
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(2)

List 1I

Reading watching
TV, playing chess,

card etc.

Playing billiards,
Table

Badminton etec.

Tennis,

Aerobic, dance,

fitness work out

Walking, visiting
places, playing
sports in the open,

track and field etc.

game/
hiking,
trecking etc.

Pl-aying

sports,

(fig) (v)
(1) (4)
(2) (5)
(5) 4
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£3]

Vi)

@) -

(iv)

Phy.

Match the List I with List II and
select the correct answer from ‘the

codes given below :

List 1 List IT
Discrete (1) Gender, age, religion,
variables ethnic affiliation

Dependent (2) Blood pressure,

variables strength running,
speed reaction time

Control (3) Room temperature,

'variables water temperature

light
Classification (4) Sit-ups, pull-ups,

squats, dips, Basket

variables
or goal made
(5) Fatigue, stress, anxiety,
motivation
Codes :
@ G GiE) (o)
A @D @ @ @
B) (1) @ @ 3)
© 6 @ @ @
O @ & @ Q@
Edu.-ITI

6.

(1}

(in)

(iz1)

(iv)

YA T 24 I Aadl 13 »ulal sisHill
AL wle, UG 53

yiel I gl 11

wdd udl (1) ela, Gur, ad,

dsfla s

AR well (2) vas AU, 2-y

2eflol, ls
s adu

[Pt uel (3) Sl Gualdimie,
welldg G-,

sl Geerctidi

flsd aal  4) e v, Yo ww,

A, shw,

sllRFe 222 dld
534

(5) s, qaeug, [,
WM

sis ¢

(B ) G Gv)
(A) 4) 2) 3 O
B Q) @ 2 &
C) B (1) @ @
D) 3 B @& Q)



7. Match the List I with List II and
select the correct answer from the
codes given below :

List I
(i) ‘t test

(i)

(Zi2) ‘F’ ratio

Standard

deviation

(zv)

Codes :

(1)

(A) (B)

(B} 3)

¢

D) (4)
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(1)

Correlation {(2)

(3}

(4)

(1)
3)
(8)
3)
(2)

List 1I

A test of analysis of
variance used to
compare more than
two groups

It is simply the
square root of the
variance i.e.
deviations from the
mean

A test of
significance or the
difference between
two means

A test represent a

useful method of
comparing exper-
imentally obtained
results with those
to be expected
theoretically on
same hypothesis

A statistical
technique that can
show whether and
how strongly pairs
of variables are
related

(i) (w)
4y (1
(1) (2)
4) &)
@ @
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Etymological meaning of

kinesiology is :
{A) Kinesiology is science of motion

(B) Kinesiology is the science of

motion of living being

(C) Kinesiology is the science of the
science of motion and human

being

(D) Kinesiology is the science of
motion of human being during

sports participation

A profession should have some
criteria to be fulfilled. Some of them

are :
(I)  Qualifications of the members
(II) Modes of communication

{(IlII)Health and personality of the

members

(IV) Means of interpretation of the

profession
Find the correct answer :
(A} (D, D
(B) (ID), (III)
(C) an, av)
(DY (IV), (1)

Phy. Edu.-IIT
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10.

(1)

(&)

(1it)

{iv)

11.

Match the List I with List II and
select the correct answer from the

codes given below :

List 1 List II

Hypoxia (1) Lack of physical
activity

Hypokinetic (2) Excessive
jumping

Insomnia (3) Lack of oxygen

Achilies (4) Overwork

tendonitis

Codes :

@ @) G )

Ay (2) (3 1) @

(B)y 3) (1) 4 @)

C) 4 3 @ Q)

D & @2 Q) @

Motor fitness comprises of :

(A) Physical fitness and body

composition
(B) General motor ability and skill
ability
(C) Motor

composition

control and body

(D) Motor performance and health
related physical fitness
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10.
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(i}
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12. “Management is the coordination of

13.

14.

the efforts of different people

towards common end.”
(A) Stoner

(B) Chelladurail

{C} Clark and Clark

(D) Charies Bucher
Select the correct option :

A behaviour where opponent is
psychologically and or physically
harmed but the goal is to win is
called :

(A) Hostile aggression
{B) Assertive behaviour
(C) Instrumental aggression

(D) Violent behaviour

Name the first Principal of Y M.C.A.
College of Physical Education,
Madras (Chennai).

(A} P.M. Joseph
(B) H.C. Buck
(C} G.D. Sondhi

(D) Dr. Vaidhyanathan

Phy. Edu.-III

12

12.

13.

14.
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15.

16.

@

(i)

{itt)

()

Select the correct option :

Common injury of the Basketball
player is :

(A) Head injury

(B) Ligament injury of ankle
(C) Shoulder injury

(D) Ligament injury of hip

Match the List I with List II and
select the correct answer from the
codes given below :
List I List II
Oxygen storage (1) Oxygen debt
in the muscle
Source of energy (2)  Anaerobic
during all out metabolism
sprint
Rest period 3) Myoglobin
immediately
after exercise
Excess oxygen (4) Recovery period
consumed during
recovery period
Codes :

@ U G ()
(A) (1} (2) 3y )
B) 2y @ @) @
(C) 1) 4 @2 Q)

M 3y 2 @ @
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17.

18.

19.

The first ancient Olympics was held
n the year :

(A) 884 B.C.

(B) 776 B.C.

(C) 626 B.C.

(D) 1042 B.C.

Select the correct option :

Social support, an exchange of
resources between at least two
individuals, is not enhanced when
there is :

(A} Proximity

(B) Distinctiveness

(C) Social loafing

(D) Similarity

Linear velocity depends on :

(I} Angular velocity directly
(II) Radius of rotation inversely

(III)Both angular velocity and
radius of rotation directly

(IV}Both angular velocity and
radius of rotation inversely

Find the correct :ombination :
(A) (), AN

(B) (), (IID)

(C) (IIn, av)

(D) (IID), (T'V)
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17.

18.

19.
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20. Sequence of therapeutic modalities

21.

includes :

(A) Cryo-therapy
(B) Electro-therapy
(C) Massage therapy
(D)) Exercise therapy

Given below are two statements, one
labelled as Assertion (A) and the

other as Reason (R) :

Assertion (A) :Socialization takes

place through

participation in
games and sports.

Reason (R) : Games and sports

inculecate social

habits.

Which one of the following

statements 1s correct ?

Codes :

(A) (A) is true but (R) is false
(B) (A) is false but (R) is true
(C) Both (A) and (R) are false

(D) Both (A) and (R) are true
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$1S :
(A) (A) uF B, uig (R) Wig 9
B) (A) W 8, uig (R wy ©
(C) oL (A) i (R) viiel 8

(D) s (A) wA (R) WAl 8

(P.T.O.]



22. Arrange the following institutes in
chronological order of their inception

in India.

@ YMCA College of Physical

Education, Madras (Chennai)

() Swarnim Gujrat Sports

University

(@) National Institute of Sports
Patiala

(fv) H.V.P. Mandal, Amravati

Codes :

(A) )

@) G ()

(BY Gi) Gid) ) Gu)
(C) i) Gv)y G @)
D) ) @& G @)

23. Professional preparation of physical

education teachers is governed

by :

(A) UGC.
(B) AILCTE.
(C} N.CTE.
(D) NAAC.

Phy. Edu.-TII
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el d2aiq dn ol sleuqsis

MG olisql ¢

@) wd A ALD, 5d% wis Bhsa

2AY3UA, Arl(sS
@) @l yyrd widy yRaRiA

Gi) qa-d §2dleye wls i,

ulduiel
() Ayl Msa, »21adl
S ¢
(A) () () (@) Go)
(B} G Gi) &) ()
(C) Gy vy G O
D) Gv) @) G G

WwilRs Raa-t Rest 22 qaus

il M2 5§ deal wud 53 o7
(A) Y. l.

(B) »l.2u8.41.4.6.

(C) 2130146,

(D) A, %.5.4].



24. Select the correct option :

25.

Overemphasis on coverage of cricket
by media in India has affected the

development of :

(A} Olympic sports

(B) All competitive sports
(C) Recreational sports
(D) Indigenous sports

Given below are two statements, one
labelled as Assertion (A) and the
other as Reason (R) :

Assertion (A) : Modern concept of
health
only a sound body
with

includes

adequate

fitness.

Reason (R) : Health is a state of

complete  well-

being.

Which one of the following

statements is correct ?

Codes :

(A) (A) is right but (R) is wrong
(B) Both (A) and (R) are right
(C) (A) is wrong but (R) is right

(D) Both (A) and (R) are wrong

Phy. Edu.-1I1
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24.

25.

Yoy [Asey e s

ozdxi MRAL g1l Biedl wile 2

quid eu Hsad uReux

........

s 2 4 9.
(A) s ™Al

(B) aMet wualets 23l
(C) %ty ¥l

(D) dnugl WMl

A3 G sauedl el 9. s [ (A)
culd & od ofiyg sla@ (R) suld &,

R (A) :  wRadl 2ugAs
Rz yadl s wd
dg R AR
1A 53 9.

ge (R) ¢ »idea » ¥y

s+l Ral 8.
A 57 sul WA ©
S :
(A) (A) Wy B uig (R) wg B
(B) 61 (A) i (R) AU 8
(€) (A) big & uig (R) w3y B

D) oA (A) 2 (R) vitel 8

[P.T.0.]



26.

27.

Given below are two statements, one
is labelled as Assertion (A) and the

other as Reason (R) :

Assertion (A) : Recreation is funda-
mental human

need.

Reason (R) :

Urge for recreation

is universal.

Which one of the following

statements is correct ?
Codes :

(A) Both (A) and (R) are true, but
(R) is the
explanation of (A)

not correct

(B) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(C) (A) is false but (R) is true
(D} (A) is true but (R) is false

Purposive sample is a non-

probability sample because it is :

(A) Selected without using any

selection process
(B) Chosen by throw of & dice
(C) Not randemly selected

(D) Selected at the last moment
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A & ganl >0l § 215 Ry (A) suld

9 2 ofly s128 (R) eafd .

Qi (A) @ 2w w9l
waMls w3lyid 6,

5121 (R) : Hetidoddl Syl
A=) 5.

Ad 5y 54wy B
5iS

(A) o1 (A) w1 (R) Wit & uig (R)

A (A) Al Wl wuoydl 4

(B) oid (A) 31 (R) Wl § w3 (R)

A (A) -l Wl wndl 9

(C) (A) “Wig 8 uig (R) @iy &

(D) (A) iy % ug (R) vig ®

Sqadll 1yl 3t sl Ayl § s

548

(Ay el uBa-1 Buyiol sul 9o
yaeoll saai aud)

(B) Russt 35 g1l wide s ad)

(C} wigfeos Fla waiesll sz aus sl -l

(D) el usla wrieall sl »ull



28. Weight training method was started

29.

30.

by German Gymnastic coach in the

year :

(A) 1810

(B) 1812

(C) 1820

(D) 1816

Internal load is judged by :
(D Load volume

(II) Pulse rate

(1II) Load intensity

(IV) Lactic acid concentration
Find out the correct combination :
(A) (), (IV)

(B) (ID), (OIV)

(C) (I1D), (_IV)

(D) D, {dIID

Which test is also known as

Variance Ratio Test ?
(A) F-test
(B) Z-test
(C) T-test

(D) Chi-square
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28, Az 2-lol ugla orin Br-ulRes siu gLl

29.

30.

Hl 43 sl wudl.

(A) 1810
(B) 1812
(C) 1820

(D) 1816

widls ou Asbl sml 2ud 6 ¢
(I) oz el

(I1) sl QsLsizl

(IIT) el dladl

(IV) asdls wfas sled ag
qioy s <l :

(A} (D), IV)

(By (ID), (I1V)

(C) (IID, aIV)

(D) (ID), (IIT)

o sdl Baze 1l sdl d s
w{lUUY 697

(A) F-5idl
(B) Z-suidl
(C) T-suiél

(D) 55-2%A2
[P.T.O.]



31.

32.

How many rounds are there in
boxing match ?

(A) 3

(B} 4

(C) 5

(D) 2

Given below are two statements, one
of which is labelled as Assertion (A)
and the other as Reason (R) :

Assertion (A) : Norm is a standard
set of score with
which an obtained

score 1s compared,

Reason (R) : Norm is developed

through logical

experimentation.

Which one of the following

statements is correct ?

(A) Both (A) and (R) are true
(B) (A) is true, but (R) is false
(C) (A) is false and (R) is true

(D) (A) is true and (R) is correct

explanation of (A)
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32.

31, ofisloil uslul 3eel B-sH diy 87

(A) 3
(B) 4
(C} 5
(D) 2

A & sal 2ukal ¥ U4 o Qg

(A) eufd & wud ofly sixe (R) euld

£

Qutt (A) g1l (Norm) i
isl 204 A2
. ¥ A8 M)
L YUY ).

5 (R) qizel (Norm) dulEs

Malal gzt Rsaiay
9.

Al U4 sy iy @7

(A) A (A) A (R) Wl &

(B) (A) g 8 wIg (R) Wi &

(C) (A) “ig & 1 (R) W 0

D) (AY Y & 2 (R) ¥ 2l =]

AHgdl »ul B



33.

34.

35.

In constructivist approach, learner  33.

is viewed as :

(A) responding being
(B) evolving being
(C) emotional being
(D) exploring being

Getting the right facts to the right

34.

people at the right time in the right

way is called :

(A) Game management

(B) Public relation in sports
(C) Motivation in sports

(D) Leadership in sports

Anaerobic steroid affects directly

on :

(A) Brain
(B) Muscle
(C) Heart

(D) Lungs
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35.

2g-atg] s pem Readdd Ay

BUHL AL £,

(A) ulaazies a3
(B) [Asalla alsd
(C) ddgralla i
(D) 2auRueLs @lsd

Al A Wl AHA A dsil el
wlisd dqnadl an .......... PRETTIS
(A) A AN

(B) Md@A et ol

(C) 3HcAdA U8

(D) Mddzl g

sz WAds Al »az 52
£

(A) HaY

(B) -y

(C) &eld

(D) s5ul
[P.T.O.]



36.

37.

38.

The major aim of physical education

is to ensure afan :

(A} Child’s

development

optimal physical

(B) Programme of activity and

sports for all

(C) All-round development of the
individual

(D) Complete removal of boredom

of the classroom activity

The Olympic games were revived
with the sole objectives of :

(A) Promoting sports and games

among the masses

(B) Creating amity, understanding

and brotherhood amongs

nations

(C)

Giving a new look to ancient

sports

(D) Making children and youth

more skilful

Which theory of motivation has

biological orientation ?
(A) Need theory

(B) Instinct theory
(C) Humanistic theory

(D) Drive theory
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WRR s Bigarl you iy

9L

(A) sumsdl ey willRs RBsw
(B) Mgl 2 M-l sids™ M w2
(C) lBaril Aalall famny

(D) adl visdl samur-s ual Aysiudl
£ 53 69

AUABYS Ul Yoi: Dt 4553 3ol

U2 9y eg :

(A) HHuIML 23 24dA Micdllst vung

(B) To{l 3L w1 eligeuas, Mgl a2

A% 59

(C) Wl IMdiA A4l 2y v

(D) suslst i yai-id am? slacuysa

GNIEET

Bl 565 R wagsuFs adidlsa
7

(A) s a0 (3Rudas)

(B) §=<lsz Hlasl

(C) &ii-ladls u (uadtas)

D) sifa dlud)



39.

40. Select the body parts from the  40.
following which indicate growth of
child ?
(A) Shoulder
(B) Chest
(C) Waist
(D) Legs
41. Force developed due to muscular 41,
contraction depends on :
(A) Nature of muscle fiber
(B) Length of muscle fiber
(C) Place of muscle fiber
(D) Cross-sectional area of the
muscle
42. Physical exercise done in the 42
presence of oxygen is called :
(A) Anaerobic
(B} Isometric
(C) Aerobic
(D) Isotonic
Phy. Edu.-1II 23

What kind of group are more 39

cohesive ?

(A) Large group
(B) Small group
(C) Regional group
(D) Scattered group

sAL MSRHL ol quIl qulws ©7
(A) Hig 2

(B) -l %

(C) [Aoud(ly »u

(D) 92 vy %A

Al a2 oo ude s2U 3 F
opols-ll [Qs sald o ¢

(A) wedl

(B) el

(C) 547

(D) wal

ool [A51 211y, st dlf 2y 69 sl
AR & -

(A) +ydg-l usla

(B) +uydg-l doeus

(C) wyddr, WA

(D) 1y sld Asud AR

wGua- erlni ws su3dl
sl 58 -

(A) BirBRU[5s
(B) usui ds
(C) Ariells
D) dusl aidls
[P.T.0.]



43.

44,

45.

Therapeutic movements are also

known as :

(A) Associated mov.ements
(B) Medical gymnasltic
{C)} Yogic Asanas

(D) German movements

The greater momentum of an

object :

(A) The higher it will go
(B) The lesser it will travel
(C) The stronger it will spin

(D) The greater distance it will

travel

Flexion and extension occur

around :

(A) Medio-lateral axis
(B) Anterio-posterior axis
(C) Vertical axis

(D) Sagittal axis
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BUALRLLS sAYEAAL U LY
£ -
(A) Aullrd weuar
(B) %8lsd [Fradlsy
(C) ddux-l

(D) ol yadwe

weidl-l Qe 4l dopuq &
(A) GU o9

(B) el ald 24

(C) oy <ld {4 a9l

(D) aa? »d: ydl Al 9

ASAA 24, [Qd8L ...

| suageusg

Y 9,

(A) Hlslui-dera @wslin

(B) 22— wwdlduz Bl
() adlsa wisdla

(D) dAowed 2sly



46. Given below are two statements, one
labelled as Assertion (A) and the
other as Reason (R} :

47.

Assertion (A): The

Reason (R) :

Which one

strength
of
produced by a

movement

muscle depends
upon how close to
it

the joint is

attached.

A muscle attach
further away will
produce morce

powerful movement

than one attached

nearer to the joint.

of the following

statements is correct ?

{A) (A) is true and (R) is false

(B) (A) is false and (R) is true

(C) (A) and (R) are correct

(D) (A) and (R) are false

Cognitive learning theory was

proposed by :
(A) Guthrie

(B) Mull

(C) Tolman

(D) Skinner
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47.

46, 1A >ulal 6 QA 44 28 [Qun (A)
we ofly [ sie (R) 6.

fagiqv (A) :

st (R)

Y 6LL QU 53¢}
eardd-l ulkd-l
wHEIR =y wiael
sedl s ASIUY &

aql Guz €.

>y 5 % uiuel g2

Asida  ©. d
weddl ¥ iy
@5y Asidd d-l
wlda

$3dl 4q1R

Ge~ 5L,

ML A, WAl ¢

(A) (A) Wl 8 it (R) ¥ig &

(B) (A) “ig & 21 (R) Wy &

Q) (A) a1 (R) oil il 6

£9

(D) (A) 1 (R) oA wiel &

(A) 28l

(B) ¢
(C) 2l

(D) Wl

Aldlets vy dludl zog 53 6

[P.T.0.]



48. An acquired behavioral tendeney or

49,

20.

disposition that influence behaviour

is referred as :
(A) State anxiety
(B) Stress

(C) Tension

(D) Trait anxiety

A skill where there is time to
prepare, preview the situation and
completely control the movement is

termed as :

(A) Closed skill

(B) Self paced skill

(C) Mixed paced skill

(D) Externally paced skill

The original noble idea of coubertin
to

understanding and goodwill among

develop international

the youth of the world has been not

attained mainly because of :
{A) Social factors

(B) Politics in sports

(C) Economic factors

(I} Lack of technological benefits to
all
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GuilFa ad-sy agal »ad gk 3

F ddein MuR 53 9 o sald © ¢
(A) Rl Bula

(B) d-ila

(C) Hn[Hsdol w1

(D) [Alkre R

W5 ng 596U 3 F ARl 41y ©.
w2 RafAsg adise 539G v sanadn
Ayl (e 53 8 a
AHlAvY 6,

(A) % sluey
(B) 2« Ao si9ey
(C) (& sl 5l9ey

(D) oitar Alamw= slaey

50. 5oR&L Hoopd GHel (@R yarix

Az ALY AR A AL Qs
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 UIRETEL T

(A) AMBrs sirel

(B) ¥dA2MAML 2518l

(C) »uls winimi

(D) Al 2s-liaioose dlod] 20l usal

w3l



51.

52.

53.

Which of the following factors has
restricted the growth of physical

education in school and college 1n

India 7

(A) Shortage of equipments
(B) Time constraint

(C) Dearth of playfields

(D) Lesser number of teachers

Supporting structure of a course of

study :

(A) Macro-scheduling

(B) Curriculum modalities
(C) Curriculum framework

(D) Monitoring instructional

relevancy

On account of good amount of

increase in height and weight early

adolesence makes :

(A) Children physically very strong

(B) Boys looks taller and girls
heavier

(C) Girls heifer and boys crane
like

(D) Boys young men and girls

WOImerIl
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53.

otz dHL WU B SidH AR U4
sl sizelid ddn wlilzs R Qs
SEPUINLY

(A) il Gey

(B) wuxu-fl walel

(C) Al eyl

(D) Blasidl stigl Ava

HEULRAL MO HEEZU GlEURYL

(A) %si dlsydla

(B) 3¥lsyau sisdldly

(C) 33s4ar Fuad

(D) Hifleo Sgsaqd Flaarzil

yd Balalazn exsais ARL WA

by =

G B A%l AL YA 8 ¢

(A) onust wls Jd dm 1wold

(B) 1521l 4413 G swia -

915 21dl ax-all
(C) wisAdl g 2 wis vl Gl

Loy 9

D) wisil 3ol w8, i wisTlal
{2l

[P.T.O.]



o4.

55.

b6.

For reducing “Swelling”

recommended treatment is :
{A)} Contrast bath

(B} Ultrasound

(C) Ultratherapy

(D) Ultraviolet

Hepatitis is an infection of the - 55.

(A) Stomach
(B) Liver
(C) Intestine
(D) Kidney

Tactical skills are automatized

56,

motor behaviour which come into

operation :

(A) Instinctively
(B) Abruptly
(C) Accidently

(D) Indirectly
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AlA 2091 sz Wl

ALzl ey ¢
(A) sipire ouy
(B) €2l 135
(C) =iezL )
(D) »iegl ade
RREIRYIFY
(A) Q2

(B) dlaz
(C) Aldrg
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57. Match the List I with List I and  57. W€l I 21 I dadl & 2nial sis-dl

select the correct answer from the Guaiol s AL Tl diEl
codes given below : el 1 el II
List 1 List 1I (@) #éds (1) »sY
() Fartlek (1) Speed i) v sk (2) ea
(ii) Stretching (2) Strength i) »sdl €is (3) Hsru3d
(ii) Sprint run  (3) Endurance (iv) waREA @) B WBa
(i) Ability to  (4) Explosive vl (5) ~wi-fluct
overcome strength gl
resistance  (5) Flexibility
Codes : siS ¢
@ @ @) Gv) @ @) i) (o)
(A) 3) B (1) @) ) (A) 3y (B) (1) (2)
(B) (2) 6) (1) (4 (B) (2) By 1) 4)
(C) 3 By L 4 ) @ 6 Q1) b
D) 2) @) & &) D) (2) ) ) B
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58.

59.

60.

How long is the runway of pole

vault ?

(A) 35 to 40 mts
(B} 30 to 35 mts
(C) 25 to 30 mts
(D) 40 to 45 mts

The ability to overcome resistance

is called :

(A} Dynamic strength

(B) Static strength

(C) Relative strength

(D) Strength endurance
Research proposal is also called :
(A) Abstract

(B) Summary

(C) Synopsis

(D) Methodology
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60.

AAGESHL €15 S Feadl aioll dlu 37
(A) 34 4l ¥o e
(B) 30 ol 3u H{lex
(C) v Al 30 Hlex

(D) vo ol wu ler

-

a9 W sl adn 53 6
(A) alalld s

(B) Ru: o

(C) wia o

(D) & Yert ul3q

AU £ 4 e seqy

€.
(A) sz
(B) Guaisik

(C) Aulrly

(D) ugla



it

62.

63.

To know social relationship which

research technique to be used ?
{A) Questionnaire

(B) Sociometry

(C) Interview

(D) Opinionnare

Value in a series of observation
which occurs with the greatest

frequency is :

(A) Mean

(B) Mode

(C) Median

(D) Geometric mean

The arithmetic mean for ungrouped

data is measured by the formula :

Phy. Edu.-III

31

61.

62.

63.

AL s HWold sedl 12 59 Wi

2s+(lsrtl Buulay W 97
(A) uslalé

(B) =xuxla

(C) Yelsid

(D) Mald

vadisd Aol Bud 3 & Hqell aal

sugfavl Tou 6
(A) s
(B) oLyt
(C) ey

(D) aulelas wes

waqallgd WA Hinal ug sluddls
Hedsd Ayt O

(A) i=%x—
(B) i=—zl{-;f
(©) 5(=A+z‘§i
o £- M
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64.

65.

66.

Likert scale is used in :

(A) Statistical tests

(B) Affective tests

(C) Cognitive tests

(D) Psychomotor tests

Vo, max is a measure of :

(A) Cardiorespiratory capacity
(B) Cardic ouput

(C) Physical fitness assessment
(D) Motor fitness assessment
Dyer Tennis skill test uses :

(A) 5 feet x 5 feet back board
(B) 10 feet x 10 feet back board
(C) 10 feet x 15 feet back board

(D) 5 feet x 15 feet back board
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65.
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dlsié Bl Guyial :
(A) uissisiy sAdluil
(B) oldrtiysd suidlel
(C) su-llcus gidl

(D) HAPIUIHS 5313

Vo, max 3 MUt & :
(A) 3[R 21 24y AdA ] @

(B) als MAeul esy giz w ol srami

e Aldlrl e
(@) willRs aual Ralze

(D) olcics &l Falaw

Dyer -l 26l 22 Guylol s3 8
(A) ¥ 852 x 4 &2 65 o)l

(B) 10 §2 x 10 §2 65 o

(C) 10 82 x 1Y g2 A5 ol

D) W g2 x U §2 65 o



67. Prediction of body density enable to
find out :
(A) Percentage of bone mass
(B) Percentage of muscle mass
(C) Percentage of body fat
(D) Percentage of connective tissue
" mass
68. Effective communication in sports
management 1s essential to keep
alive its :
(A) Principles
(B) Foundation
(C) Characteristics
(D)) Dynamics
69. Reciprocal visits are generally held
among :
{A) Students of two or more
institutions
(B) Teachers of two or more
institutions
(C) Teachers and students
(D) Management and family
members
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a2 weidldf) @Rl Al wddaHia
9 |

(A) wsissi-lea-fl 2siad

(B) uyea-l esaisl

(C) ula-l »zell esiasl

(D) :Adiws suama-l esial

A HAXHU-2H] HA SIS AT W HABIR

dd @dd v F3A Y -
(A) Rigidl

(B) Ak

(C) csBsail

D) 2uasllad

i, e vl Hausidldl
Yy &

Y

(A) 6l % Al as? deuviint [Renlisi
(B) & & Al amid waaisli- [Reast
(C) [Rast A [Qenelal

(D) dAEs Hsn 2 cini
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70.

71,

72.

Inorder to ensure mass

participation intramural

programme should be organised

on :
(A} Challenge basis
(B) Knock out basis
(C) Combination basis
(D) Round Robin basis

Vigorous movement based activities
such as regulation games and
set drills are geneally taught
through :

(A) Verbal explanation
(B) Practice method

(C) Demonstration method
(D) Project method

The ancient Romans were known for

their thinking of :
(A) Athletics

(B) Wrestling

(C) Gymnastic

(D) Gladiatorial contest
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Qa3 Aot G419 A o M2 MUAR 2 S s+

Bl sMHL 59 AL ¢
(A) -1153l%-u LU YR

(B) ollad ugladl

(C) (& zazu-l el
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3 [Ayue, Ml 2 A2 gla Ay Jd

A gl fluay ¢
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(B) gl
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73.

74.

75.

Which of the following is a
key factors in man’s socilization

process ?

(A) Social understanding

(B) Social courtesis

(C) Social interaction among people
(D) Social visit

The content of physical education

programme will be directly

pfoport.ional to the :

(A) Nature of the school
(B) Class strength

(C-) Time allotted for it

(D) Teacher available for it

Which of the following indicates

consistency in performance ?
(A) Validity

(B) Reliability

(C) Objectivity

(D) Simplicity
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73.

4.

75.

QA1 L4 sy el wuspse wBad

oy 425 197

(A) WHlrs Wi
(B) aeulys ek
(C) alsl a2l youlys siafda
(D) Arulys yeausia

w3 Ban sidsndl [Qya axg dlaxdly

-

s o

(A) woug W3

(B) a3 v

(C) d-il Hi2 $1adl ¥Hy

(D) aril He ue (st

A U4 5y 2wl Al sald & ¢
(A) MBIl

(B) [ra-lad

(C) sgasli

(D) A=A

[P.T.O.]



ROUGH WORK

Phy. Edu.-I11 36



